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HW#3 p632#11-14, 31, 32  (17-19, 22,23,33- optional – extra credit)
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Find the area of each trapezoid to the nearest tenth.
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Find the area of each regular polygon with the given apothem a and side
length s.

11. pentagon, a = 24.3cm, s = 353 cm 12. 7-gon, a = 29.1ft, s = 281t
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13. octagon, @ = 60.4in., s = 50in. 14. nonagon, a = 27.5in., s = 20in.
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Find the area of each regular polygon. Round your answer to the nearest tenth, 49 S¢
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Find the area of each regular polygon with the given radius or apothem. If your
answer is not an integer, leave it in simplest radical form.
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31. Think About a Plan The gazebo in the photo is built in the shape
of a regular octagon. Each side is 8 ft long, and the enclosed
area is 310.4 fi%. What is the length of the apothem?
« How can you draw a diagram to help you solve the problem?
« How can you use the area of a regular polygon formula?

32. A regular hexagon has perimeter 120 m. Find its area.

33. The area of a regular polygon is 36 in.2. Find the length of a side if
the polygon has the given number of sides. Round your answer to
the nearest tenth.

b.a <6
n Suppose the polygon is a pentagon. What would
you expect the length of a side to be? Explain.
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Find the area of each paral.lelnyam.
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17. Urban Design A bakery has a 50 fi-by-31 fi parking lot. The four @ SeeProblema.
parking spaces are congruent parallelograms, the driving region is a
rectangle, and the two areas for flowers are

congruent triangles.

a. Find the area of the paved surface by adding
the areas of the driving region and the four
parking spaces.

b. Describe another method for finding the
area of the paved surface. I=10ft~|

<. Use your method from part (b) to find the .
area. Then compare answers from parts (a) 15 ft
and (b) to check your work. l

18. The area of a parallelogram is 24 in.? and 501t
the heightis 6 in. Find the length of the
corresponding base.
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Find the area of each figure.
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Find the area of each trapezoid ® s

1. 21 in. 12. 24.3 cm 13.
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14. Find the area of a trapezoid with bases 12 cm and 18 cm and height 10 cm.
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Find the area of each trapezoid. If your answer is not an integer, leave itin ® se
simplest radical form.
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Find the area of each kite. 4 See Prob
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Find the area of each rhombus. 4 See Prob

2. 2. win. 25.




